UBERSICHTSZEICHNUNG Y&y =/=/)) === —d

ASSEMBLY DRAWING

CROSSHILLCF5.0/6.0/6.0S/6.0AXS/7.0/8.0/8.0S(MY25])

CROSSHILL CF (MY25]
date: 14-03-2024
version: 01

page1/6



HOW TO USE EXPLODED VIEW

BOM-ID | Description Specification Torque QTY | Service Kit nr.
1 Counter sunk screw [Set) IS2 - M3 x 8 mm 1 Nm 2 | kKHBO0O025 & ¥

€6 You can click on the logo Puda hlke ¢
according to your part's U i dasa.g.na(
supplier. ’ ’
It will take you to the k *

purchase page.

39

JEU DE SUPPORTS ENTREE DE CABLES MOTEUR

N— YAMAHA E-BIKE HAIBIKE ALLTRACK
1iasl GAUCHE/DROITE NOIR
2023



https://shop.accentry.com/COM/search?keyword=khb00025#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KHB00025#filter/&pageSize=24

UBERSICHTSZEICHNUNG Y& =~/#/)) == —2

ASSEMBLY DRAWING headtube / fork

: Pos. 11: only
CrosshillCF46.05/8.05
. £ 3

Hinweis: Bei den Schrauben muss

mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flédchen missen ge-
fettet werden.

Note:

use medium streng-
th screw lock for screw
threads.
Red surfaces have to be
greased.

Pos. 12: Headless screw pre-installed by the frame
manufacturer (close the thread]!
Optional: Pos. 13 Lens head screw [accessories box)

* model-specific

CROSSHILL CF (MY25)
date: 14-03-2024
version: 01

page 2/6




UBERSICHTSZEICHNUNG d LIV~ rii—
ASSEMBLY DRAWING headtube / fork
BOM-ID |Item nr. QTY | Description Specification Torque | Service kit nr.
1 :105_‘;%?0%1_001 10 1% Headtube top cover KLP0O008S @ thg
‘ [1105-%}?0%8-00201] 148 CampEessioniring KLP00088 & e
3 [11080-%1090%1—00202] 1x | Upper headset sealing KLP00088 & &
4 [1108?-2201050900206] % Upper headset bearing KLPO0OSS @ &h}i
5 [1105_%%0010%021 1 1x | Lower headset sealing KLP00088 & B
6 [110}5_%109;5:0020?] 1x | Lower headset bearing (LP0003E % b
d [15000-11%9432%051 01) éx | Lens head screw HS3 - M5 x 10 mm 2Nm -
3 | 1s0.8000:00106 1X | [Crosshill OF 5.0/6.0/ 6.0 AXS /7.0/8.0) e KLPoo04 G
»” :ff.zaol]z_om 37) i [Fc?;:s';i?ﬁe& 5.0/6.0/6.0 AXS /7.0/8.0) rronios T
100|001z 1X | [orosshill CF5.0/ 6.0/ 6.0 AXS / 7.0/8.0) 10 KLPo0I0S & o
ks 10032085 1x | Crown-race (only Crosshill CF 6.05/8.05) KLP00088 & B
12 | ----- 2x | Headless screw [pre-installed) M5 x 8 mm -
13 ::{?Eﬁ;‘_‘g1501%1ﬁ936 2x | Lens head screw (accessories box) HS3 - M5 x 10 mm 2Nm -

* model-specific

CROSSHILL CF (MY25]
date: 14-03-2024
version: 01

page 3/ 6



https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00104#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00104#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00105#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00105#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00105#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00088#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00088#filter/&pageSize=24

UBERSICHTSZEICHNUNG
ASSEMBLY DRAWING main frame

L Al vE

Hinweis: Bei den Schrauben muss
mittelfeste Gewindesiche-
rung verwendet werden.
Rote Flédchen missen ge-
fettet werden.

use carbon
assembly past!

Note: use medium streng-
th screw lock for screw
threads.

Red surfaces have to be
greased.

* model-specific

Shimano DIZ version

I Don't grease the thread!

Pos. 12: Headless screw pre-installed by the frame CROSSHILL CF (MY25]
manufacturer [close the thread)! date: 14-03-2024
Optional: Pos. 13 Lens head screw [accessories box) version: 01

page 4/ 6




UBERSICHTSZEICHNUNG

L Al vE

ASSEMBLY DRAWING main frame
BOM-ID |Item nr. QTY | Description Specification Torque | Service kit nr.
10012936
7 (60-0142-05101) 5x | Lens head screw HS3 - M5 x 10 mm 2Nm _
12 | ----- 2% | Headless screw [pre-installed) M5 x 8 mm -
(optional) 10012936 ) )
13 (60-0142-05101) 2% | Lens head screw [accessories box) HS3 - M5 x 10 mm 2Nm
10012933 B 24 bike
14 (60-0153-05160) 4X Bottle hanger bolts & Pbags
10031834 . ke
15| (13-3000-00153) 1x | Seat post clamp 931,8mm : & e
10031886 i e
16 (40-8000-00020) 1x | Fender bridge KLP0O102 & A
10099810 -
7| (26-9900-00018] VI REh I KLPO0092 & me
18 10012931 2% | Countersunk head screw HS3 - M5 x 20 mm 5 1Nm KLPO0092 o ,Eh‘;
(60-0161-05201] ' Al parts
10099814 ~ bae
19 (31-2000-00087) 1x | Battery holder KLP00093 & a8
20 10012413 1x | Countersunk head screw HS3 - M5 x 12 mm 2Nm KLPOO093 & B
(60-0152-05121) s
21* 10017890 2x | Cableqguide [for Shimano Di2 version] (CrosshillCF 7.0) KLP0O0094 o
10017889 Cable guide [for mechanical version) .
* P ike
2 (31-2000-00088) ZX | (Crosshill CF 5.0/ 6.0) KLP0O094 & s
10017891 Cable guide [for Sram AXS version) #4  bike
* &
23 (31-2000-00180) ZX | (Crosshill CF 6.0 5 / 6.0 AXS /8.0/ 8.0 5) KLPO0O?4 G e
10010774 : . 2o bike
! - S
24 (44-2100-00070) 1x | UDH derailleur hanger + nut Don't grease the thread! | 25 Nm & e
10031833 TA12 x 167 mm / -
25 (40-8000-00164) 1% | Rear thru-axle M12 x P10 % 15 mm 10 Nm KLP00106 S
10013833 : .
* _ Pt ike
26 (34-4000-00850) 1x | Brake mount adapter (Crosshill CF 5.0 / 6.0 / 7.0) & ths

* model-specific

CROSSHILL CF [MY25)
date: 14-03-2024
version: 01

page5/6


https://shop.accentry.com/COM/articleDetails/1127796.044/2503215001
https://shop.accentry.com/WG/search?keyword=2503215001#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=2502064950#filter/&pageSize=24
https://shop.accentry.com/WG/articleDetails/23700031.102/2502064950
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00102#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00092#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00092#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00093#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00093#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00094#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00094#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00094#filter/&pageSize=24
https://shop.accentry.com/COM/articleDetails/1163839.044/100815
https://shop.accentry.com/WG/search?keyword=udh#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00106#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00106#filter/&pageSize=24
https://shop.accentry.com/COM/articleDetails/1166123.044/2500372110
https://shop.accentry.com/WG/search?keyword=2500372110#filter/&pageSize=24

UBERSICHTSZEICHNUNG Y& =~/#/)) == —2

ASSEMBLY DRAWING Handlebars & stems

Description Specification Service kit nr.
LAPIERRE STEM ALLOY 31.8 & 120mm KLP00132 & &'h%
LAPIERRE STEM ALLOY 31.8 @ T10mm KLPOO131 & o
LAPIERRE STEM ALLOY 31.8 @ 100mm KLPOOT50 & o
LAPIERRE STEM ALLOY 31.8 @ 90mm KLP00129 o ht
LAPIERRE STEM ALLOY 31.8 @ 80mm KLP00140 & o

Description Specification Service kit nr.
LAPIERRE GRAVEL CARBON HANDELBAR 42cm Rise:20mm Flare:12° KLPOO123 @ &'th
LAPIERRE GRAVEL CARBON HANDELBAR 44cm Rise:20mm Flare:12° KLP00124 & Fi’;'t‘!;

CROSSHILL CF [MY25)
date: 14-03-2024
version: 01



https://shop.accentry.com/COM/articleDetails/1127796.044/2503215001
https://shop.accentry.com/WG/search?keyword=2503215001#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=2502064950#filter/&pageSize=24
https://shop.accentry.com/WG/articleDetails/23700031.102/2502064950
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00102#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00092#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00092#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00093#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00089#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00093#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00094#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00094#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00094#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=udh#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00106#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00106#filter/&pageSize=24
https://shop.accentry.com/COM/articleDetails/1166123.044/2500372110
https://shop.accentry.com/WG/search?keyword=2500372110#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00132#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00132#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00131#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00131#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00130#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00130#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00129#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00129#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00140#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00140#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00120#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00120#filter/&pageSize=24
https://shop.accentry.com/COM/search?keyword=KLP00121#filter/&pageSize=24
https://shop.accentry.com/WG/search?keyword=KLP00121#filter/&pageSize=24

UBERSICHTSZEICHNUNG Y&y =/=/)) === —d

ASSEMBLY DRAWING

FACT SHEET:
SHOCK LENGTH:  ==e- DROPPER SEATPOST READY: YES
SHOCK HARDWARE TOP: - WATTERBOTTLE MOUNT: 1x Downtube / 1x Seattube
SHOCK HARDWARE BOTTOM:  -=--- MAXIMUM PERMISSIBLE TOTAL WEIGHT: 110 KG (Cat. 2)
HEADSET TOP: IS 52 MAXIMUM TIRE SIZE: 45¢
HEADSET BOTTOM: IS 52 WHEEL SIZE: 28" (700x44c)
SEATPOST DIAMETER: 27,2 MM _ TA12x167 mm /
QUICK RELEASE LENGTH: M12xP1.0xL15 mm
CLAMP INNER DIAMETER: 31,8 MM
OVER-LOCKNUT DIMENSION (0.L.D.): 142 MM
Crosshill CF 5.0/ 6.0/ 7.0:
Shimano BB72-41B - Press Fit FD CLAMP SIZE:. eeee-
BOTTOM BRACKET: Crosshill CF 6.0 S/ 6.0 AXS oTYE
/8.0/8.0S5: SRAM DUB PF :
86.5 Road ENGINE:  mee-
KICKSTAND: — =mee- BATTERY: = aeee-
ISCG STANDARD:  —me-- DISPLAY: -
CARRIER MOUNT: YES
FENDER COMPATIBLE: YES

CROSSHILL CF (MY25]
date: 14-03-2024
version: 01

page 6/ 6




